

The Australian Journal of Mathematical Analysis and Applications

http://ajmaa.org



Volume 7, Issue 1, Article 19, pp. 1-10, 2008

ON A CLASS OF UNIFORMLY CONVEX FUNCTIONS DEFINED BY CONVOLUTION WITH FIXED COEFFICIENT

T. N. SHANMUGAM, S. SIVASUBRAMANIAN, AND G. MURUGUSUNDARAMOORTHY

Received 06 June, 2006; accepted 5 December, 2008; published 20 September, 2010.

Department of Mathematics, College of Engineering, Anna University, Chennai - 600 025, India.

drtns2001@yahoo.com

Department of Mathematics, University College of Engineering, Tindivanam, (Anna University-Chennai), Saram-604 703, India.

sivasaisastha@rediffmail.com

SCHOOL OF ADVANCED SCIENCES, VIT UNIVERSITY, VELLORE-632 014, INDIA.

gmsmoorthy@yahoo.com

ABSTRACT. We define a new subclass of uniformly convex functions with negative and fixed second coefficients defined by convolution. The main object of this paper is to obtain coefficient estimates distortion bounds, closure theorems and extreme points for functions belong to this new class. The results are generalized to families with fixed finitely many coefficients.

Key words and phrases: Analytic, Univalent, Convex, Starlike, Convolution.

2000 Mathematics Subject Classification. Primary 30C45.

ISSN (electronic): 1449-5910

^{© 2008} Austral Internet Publishing. All rights reserved.

1. INTRODUCTION

Let \mathcal{A} denote the family of functions

(1.1)
$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

which are analytic and univalent in the open unit disc $\Delta = \{z : |z| < 1\}$. A function $f \in \mathcal{A}$ is said to be starlike of of order $\alpha, 0 \le \alpha < 1$ in Δ , written as $f \in S^*(\alpha)$, if $Re[zf'(z)/f(z)] > \alpha$ in Δ . A function $f \in \mathcal{A}$ is said to be convex of order $\alpha \quad 0 \le \alpha < 1$ in Δ , written as $f \in C(\alpha)$, if and only if $zf' \in S^*(\alpha)$ in Δ . The class $UST(\alpha, \beta)$ is defined as the class of functions $f \in \mathcal{A}$ satisfying the inequality

We note that for $\beta > 1$, if $f \in UST(\alpha, \beta)$ then zf'(z)/f(z) lies in the region $G \equiv G(\alpha, \beta) \equiv \{w : Re(w) > \beta | w - 1 | + \alpha\}$, that is, part of the complex plane which contains w = 1 and is bounded by the ellipse $(u - (\beta^2 - \alpha)/(\beta^2 - 1))^2 + (\beta^2/(\beta^2 - 1))v^2 = \beta^2(1 - \alpha)^2/(\beta^2 - 1)^2$ with vertices at the points $((\beta + \alpha)/(\beta + 1), 0)$, $((\beta - \alpha)/(\beta - 1), 0)$, $((\beta^2 - \alpha)/(\beta^2 - 1), (\alpha - 1)/\sqrt{\beta^2 - 1})$, and $((\beta^2 - \alpha)/(\beta^2 - 1), (-\alpha + 1)/\sqrt{\beta^2 - 1})$. Since $\alpha < (\beta + \alpha)/(\beta + 1) < 1 < (\beta - \alpha)/(\beta - 1)$, we have $G \subset \{w : Re(w) > \alpha\}$ and so $U(\alpha, \beta) \subset S^*(\alpha)$. For $\beta = 1$ if $f \in UST(\alpha, 1)$, then zf'/f covers the region which contains w = 2 and is bounded by the parabola $u = (v^2 + 1 - \alpha^2)/2(1 - \alpha)$. Using the relation between convex and starlike functions, we define $UCV(\alpha, \beta)$ as the class of functions $f \in A$ if and only if $zf' \in UST(\alpha, \beta)$. Ronning [8] investigated the class $UCV(\alpha, 1)$ of uniformly convex functions of order α , but the class $UCV(0, 1) \equiv UCV$ of uniformly convex functions was first defined by Goodman [3, 4]. See also Ronning [7] and Shams et al. [11].

Let the functions $\Phi(z) = z + \sum_{n=2}^{\infty} \lambda_n z^n$ and $\Psi(z) = z + \sum_{n=2}^{\infty} \mu_n z^n$ be analytic in Δ , where $\lambda_n \ge \mu_n \ge 0$. Murugusundaramoorthy and Jahangiri [6] defined the class $U(\Phi, \Psi, \alpha, \beta)$ to be the class of functions $f \in A$ satisfying the conditions $(f * \Psi)(z) \ne 0$ and

(1.3)
$$Re\left\{\frac{f*\Phi}{f*\Psi}-\alpha\right\} \ge \beta \left|\frac{f*\Phi}{f*\Psi}-1\right|, \forall z \in \Delta, \ -1 \le \alpha < 1, \ \beta > 0.$$

We further, let $UT(\Phi, \Psi, \alpha, \beta) \equiv U(\Phi, \Psi, \alpha, \beta) \cap T$ where T consists of functions $f \in \mathcal{A}$ which are of the form $f(z) = z - \sum_{n=2}^{\infty} a_n z^n$, $(a_n \ge 0)$. The class T was introduced and studied by Silverman [12]. Here in this note the operator (*) stands for the convolution of two power series $f(z) = z \pm \sum_{n=2}^{\infty} a_n z^n$ and $g(z) = z \pm \sum_{n=2}^{\infty} b_n z^n$ defined by (f * g)(z) = f(z) * g(z) = $z \pm \sum_{n=2}^{\infty} a_n b_n z^n$.

The families $U(\Phi, \Psi, \alpha, \beta)$ and $UT(\Phi, \Psi, \alpha, \beta)$ are comprehensive classes consisting of various well-know classes of analytic functions as well as many new ones. For example, for suitable

choices of Φ , Ψ , α , and β we obtain

$$U\left(\frac{z}{(1-z)^2}, \frac{z}{1-z}, \alpha, 0\right) \equiv S^*(\alpha)$$
$$U\left(\frac{z+z^2}{(1-z)^3}, \frac{z}{(1-z)^2}, \alpha, 0\right) \equiv C(\alpha)$$
$$U\left(\frac{z+z^2}{(1-z)^3}, \frac{z}{(1-z)^2}, \alpha, \beta\right) \equiv UCT(\alpha, \beta)$$

In the present investigation, we introduce a new class $UT_b(\Phi, \Psi, \alpha, \beta) \ 0 \le b \le 1$, with negative and fixed second coefficient. The main object of this paper is to obtain sufficient conditions for the functions $f \in UT_b(\Phi, \Psi, \alpha, \beta)$. Furthermore we obtain extreme points, distortion bounds and closure properties for $f \in UT_b(\Phi, \Psi, \alpha, \beta)$. We need the following theorem for our investigation established by Murugusundaramoorthy and Jahangiri [6].

Theorem 1. A necessary and sufficient condition for f(z) of the form (1.3) to be in the class $UT(\Phi, \Psi, \alpha, \beta), \quad -1 \le \alpha < 1, \quad \beta > 0$ is that

(1.4)
$$\sum_{n=2}^{\infty} \left[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n \right] a_n \le 1-\alpha.$$

Corollary 1. Let the function f defined by (1.3) be in the class $UT(\Phi, \Psi, \alpha, \beta)$. Then

$$a_n \le \frac{(1-\alpha)}{\left[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n\right]}, n \ge 2, -1 \le \alpha < 1, \beta > 0.$$

Remark. In view of Theorem 1, we can see that f(z) of the form (1.3) is in the class $UT(\Phi, \Psi, \alpha, \beta)$ then,

(1.5)
$$a_2 = \frac{(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2}$$

By fixing the second coefficient, we introduce a new subclass $UT_b(\Phi, \Psi, \alpha, \beta)$ of $UT(\Phi, \Psi, \alpha, \beta)$ and obtain the following theorems.

Let $UT_b(\Phi, \Psi, \alpha, \beta)$ denote the class of functions f in $UT(\Phi, \Psi, \alpha, \beta)$ and of the form

(1.6)
$$f(z) = z - \frac{b(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \sum_{n=3}^{\infty} a_n z^n (a_n \ge 0, 0 \le b \le 1).$$

2. The Class $UT_b(\Phi, \Psi, \alpha, \beta)$

Theorem 2. Let the function f(z) be defined by (1.6). Then $f \in UT_b(\Phi, \Psi, \alpha, \beta)$ if and only if

(2.1)
$$\sum_{n=3}^{\infty} [(1+\beta)\lambda_n - (\alpha+\beta)\mu_n] a_n \le (1-b)(1-\alpha),$$

 $-1\leq\alpha<1,\beta>0.$

Proof. Substituting

$$a_2 = \frac{(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2}, 0 \le b \le 1$$

in (1.6) and simple computation leads to the desired result. \blacksquare

Corollary 2. Let the function f defined by (1.6) be in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Then

(2.2)
$$a_n \le \frac{(1-\alpha)(1-b)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2}, n \ge 3, -1 \le \alpha < 1, \beta > 0$$

Theorem 3. The class $UT_b(\Phi, \Psi, \alpha, \beta)$ is closed under convex linear combination.

Proof. Let the function f be defined by (1.6) and g(z) defined by

(2.3)
$$g(z) = z - \frac{(1-\alpha)b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \sum_{n=3}^{\infty} d_n z^n,$$

where $d_n \ge 0$ and $0 \le b \le 1$.

Assuming that f(z) and g(z) are in the class $UT_b(\Phi, \Psi, \alpha, \beta)$, it is sufficient to prove that the function H(z) defined by

(2.4)
$$H(z) = \mu f(z) + (1 - \mu)g(z), (0 \le \mu \le 1)$$

is also in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Since

(2.5)
$$H(z) = z - \frac{(1-\alpha)b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \sum_{n=3}^{\infty} \{\mu a_n + (1-\mu)d_n\} z^n,$$

 $a_n \geq 0, d_n \geq 0, 0 \leq b \leq 1,$ we observe that,

(2.6)
$$\sum_{n=3}^{\infty} \frac{(1-\alpha)b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} (\mu a_n + (1-\mu)d_n) \le (1-b)(1-\alpha)$$

which is in view of Theorem 2, again, implies that $H \in UT_b(\Phi, \Psi, \alpha, \beta)$ which completes the proof of the Theorem 3.

Theorem 4. Let the functions

(2.7)
$$f_j(z) = z - \frac{(1-\alpha)b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \sum_{n=3}^{\infty} a_{n,j} z^n, a_{n,j} \ge 0$$

be in the class $UT_b(\Phi, \Psi, \alpha, \beta)$ for every $j \ (j = 1, 2, ..., m)$. Then the function F(z) defined by

(2.8)
$$F(z) = \sum_{j=1}^{m} \eta_j f_j(z),$$

is also in the class $UT_b(\Phi, \Psi, \alpha, \beta)$, where

$$\sum_{j=1}^{m} \eta_j = 1.$$

Proof. Combining the definitions (2.7) and (2.8), further by (2.9) we have

(2.10)
$$F(z) = z - \frac{(1-\alpha)b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \sum_{n=3}^{\infty} \left(\sum_{j=1}^m \eta_j a_{n,j}\right) z^n.$$

Since $f_j(z) \in UT_b(\Phi, \Psi, \alpha, \beta)$ for every j = 1, 2, ..., m, Theorem 2 yields

(2.11)
$$\sum_{n=3}^{\infty} [(1+\beta)\lambda_n - (\alpha+\beta)\mu_n] a_{n,j} \le (1-b)(1-\alpha),$$

for $j = 1, 2, \ldots, m$. Thus we obtain

$$\sum_{n=3}^{\infty} [(1+\beta)\lambda_n - (\alpha+\beta)\mu_n] \left(\sum_{j=1}^m \eta_j a_{n,j}\right)$$
$$= \sum_{j=1}^m \eta_j \left(\sum_{n=3}^\infty [(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]a_{n,j}\right)$$
$$\leq (1-b)(1-\alpha)$$

in view of Theorem 2. So, $F \in UT_b(\Phi, \Psi, \alpha, \beta)$.

Theorem 5. Let

(2.12)
$$f_2(z) = z - \frac{b(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]} z^2$$

and

(2.13)
$$f_n(z) = z - \frac{b(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]} z^2 - \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]} z^n$$

for n = 3, 4, ... Then f is in the class $UT_b(\Phi, \Psi, \alpha, \beta)$ if and only if it can be expressed in the form

(2.14)
$$f(z) = \sum_{n=2}^{\infty} \sigma_n f_n(z),$$

where $\sigma_n \ge 0$ and $\sum_{n=2}^{\infty} \sigma_n = 1$.

Proof. We suppose that f(z) can be expressed from (2.14). Then we have

$$f(z) = z - \frac{b(1-\beta)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]} z^2 - \sum_{n=3}^{\infty} \sigma_n \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]} z^n$$

$$(2.15) = z - \sum_{n=2}^{\infty} A_n z^n,$$

where

(2.16)
$$A_2 = \frac{b(1-\beta)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}$$

and

(2.17)
$$A_n = \sigma_n \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]}, \ n = 3, 4, \dots$$

Therefore,

(2.18)

$$\sum_{n=2}^{\infty} [(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]A_n = b(1-\beta) + \sum_{n=3}^{\infty} \sigma_n (1-b)(1-\beta)$$

$$= (1-\beta)[b+(1-\sigma_2)(1-b)]$$

$$\leq (1-\alpha),$$

and it follows from Theorem 1 and Theorem 2, f is in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Conversely, we suppose that f(z) defined by (1.6) is in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Then by using (2.2), we get

(2.19)
$$a_n \le \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]}, (n \ge 3)$$

Setting

(2.20)
$$\sigma_n = \frac{\left[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n\right]}{(1-b)(1-\alpha)}a_n, (n \ge 3)$$

and

(2.21)
$$\sigma_2 = 1 - \sum_{n=3}^{\infty} \sigma_n,$$

we have (2.14). This completes the proof of Theorem 6. \blacksquare

Corollary 3. The extreme points of the class $UT_b(\Phi, \Psi, \alpha, \beta)$ are functions $f_n(z)$, $n \ge 3$ given by Theorem 6.

3. **DISTORTION THEOREMS**

In order to obtain distortion bounds for function $f \in UT_b(\Phi, \Psi, \alpha, \beta)$ first we prove the following lemmas.

Lemma 1. Let the function $f_3(z)$ be defined by

(3.1)
$$f_3(z) = z - \frac{b(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} z^2 - \frac{(1-b)(1-\alpha)}{(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3} z^3.$$

Then, for $0 \le r < 1$ and $0 \le b \le 1$,

(3.2)
$$|f_3(re^{i\theta})| \ge r - \frac{b(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2}r^2 - \frac{(1-b)(1-\alpha)}{(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3}r^3$$

with equality for $\theta = 0$. For either $0 \le b < b_0$ and $0 \le r \le r_0$ or $b_0 \le b \le 1$,

(3.3)
$$|f_3(re^{i\theta})| \le r + \frac{b(1-\alpha)}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2}r^2 - \frac{(1-b)(1-\alpha)}{(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3}r^3$$

with equality for $\theta = \pi$, where

$$b_{0} = \frac{1}{2(1-\alpha)} \{ -\{ [(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] + 4[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] - (1-\alpha) \} + (\{ [(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] + 4[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] - (1-\alpha) \}^{2} - (3.4)$$

$$(3.4) \qquad 16(1-\alpha)[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}])^{1/2}$$

and

(3.5)

$$r_{0} = \frac{1}{b(1-b)(1-\alpha)} \{-2(1-b)\{(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}\} + [4(1-b)^{2}\{(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}\}^{2} + b^{2}(1-b)(1-\alpha)[(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}]^{1/2}\}.$$

Proof. We employ the technique as used by Silverman and Silvia [13]. Since

$$\frac{\partial |f_3(re^{i\theta})|^2}{\partial \theta} = 2(1-\alpha)r^3 \sin \theta \left\{ \frac{b}{(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2} + \frac{4(1-b)}{(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3}r \cos \theta - \frac{b(1-b)(1-\beta)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2](1+\beta)[\lambda_3 - (\alpha+\beta)\mu_3]} \right\}$$
(3.6)

we can see that

(3.7)
$$\frac{\partial |f_3(re^{i\theta})|^2}{\partial \theta} = 0$$

for $\theta_1 = 0, \theta_2 = \pi$, and

(3.8)
$$\theta_3 = \cos^{-1} \left(\frac{b[(1-b)(1-\alpha)r^2 - b[(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3]}{4r(1-b)[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]} \right)$$

since θ_3 is valid root only when $-1 \le \cos \theta_3 \le 1$. Hence we have a third root if and only if $r_0 \le r < 1$ and $0 \le b \le b_0$. Thus the results of the theorem follow from comparing the extremal values $|f_3(re^{i\theta_k})|, k = 1, 2, 3$ on the appropriate intervals.

Lemma 2. Let the functions $f_n(z)$ be defined by (2.13) and $n \ge 4$. Then

(3.9)
$$|f_n(re^{i\theta})| \le |f_4(-r)|.$$

Proof. Since

$$f_n(z) = z - \frac{b(1-\beta)}{(2+k-\beta)(1+\lambda)}z^2 - \frac{(1-b)(1-\beta)}{[n(1+k)-(k+\beta)](1+n\lambda-\lambda)}z^n$$

and $\frac{r^n}{n}$ is a decreasing function of n, we have

$$|f_n(re^{i\theta}| \leq r + \frac{b(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r^2 - \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_4 - (\alpha+\beta)\mu_4]}r^4 = -f_4(-r)$$

which shows (3.9).

Theorem 6. Let the function f(z) defined by (1.6) belongs to the class $UT_b(\Phi, \Psi, \alpha, \beta)$, then for $0 \le r < 1$,

(3.10)
$$|f(re^{i\theta})| \ge r - \frac{b(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r^2 - \frac{(1-b)(1-\alpha)}{[(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3]}r^3$$

with equality for $f_3(z)$ at z = r, and

(3.11)
$$|f(re^{i\theta})| \le \max\{\max_{\theta} |f_3(re^{i\theta})|, -f_4(-r)\},$$

where $\max_{\theta} |f_3(re^{i\theta})|$ is given by Lemma 1.

Proof. The proof of Theorem 6, is obtained by comparing the bounds of Lemma 1, and Lemma 2. ■

Remark: Taking b = 1 in Theorem 6, we obtain the following result.

Corollary 4. Let the function f(z) defined by (1.6) be in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Then for |z| = r < 1, we have

(3.12)
$$r - \frac{(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r^2 \le |f(z)| \le r + \frac{(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r^2$$

Lemma 3. Let the function $f_3(z)$ be defined by (3.1). Then, for $0 \le r < 1$, and $0 \le b \le 1$,

(3.13)
$$|f'_{3}(re^{i\theta})| \ge 1 - \frac{2b(1-\alpha)}{[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}]}r - \frac{3(1-b)(1-\alpha)}{[(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}]}r^{2}$$

with equality for $\theta = 0$. For either $0 \le b < b_1$ and $0 \le r \le r_1$ or $b_1 \le b \le 1$,

(3.14)
$$|f'_{3}(re^{i\theta})| \leq 1 + \frac{2b(1-\alpha)}{[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}]}r - \frac{3(1-b)(1-\alpha)}{[(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}]}r^{2}$$

with equality for $\theta = \pi$, where

$$b_{1} = \frac{1}{6(1-\alpha)} \{ -\{ [(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] - 3(1-\alpha) \} \} + \{ ([(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] - 3(1-\alpha))^{2} + 215 \} = \frac{72(1-\alpha)}{2} [(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] - 3(1-\alpha))^{2} + 215 \} = \frac{72(1-\alpha)}{2} [(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{3}] - 6[(1+\beta)\lambda_{3} - (\alpha+\beta)$$

(3.15) $72(1-\alpha)[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]\}^{1/2}$

and

(3.16)

$$r_{1} = \frac{1}{3b(1-b)(1-\alpha)} \{-3(1-b)[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}] + [9(1-b)^{2}[(1+\beta)\lambda_{2} - (\alpha+\beta)\mu_{2}]^{2} + 3b^{2}(1-b)(1-\alpha)[(1+\beta)\lambda_{3} - (\alpha+\beta)\mu_{3}]]^{1/2} \}.$$

Proof. The proof of Lemma 3, is much akin to the proof of Lemma 3.

Theorem 7. Let the function f(z) defined by (1.6) belongs to the class $UT_b(\Phi, \Psi, \alpha, \beta)$, then for $0 \le r < 1$,

(3.17)
$$|f'(re^{i\theta})| \ge 1 - \frac{2b(1-\alpha)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r - \frac{3(1-b)(1-\alpha)}{[(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3]}r^2$$

with equality for $f'_3(z)$ at z = r, and

(3.18)
$$|f'(re^{i\theta})| \le \max\{\max_{\theta} |f'_3(re^{i\theta})|, -f'_4(-r)\},$$

where $\max_{\theta} |f'_3(re^{i\theta})|$ is given by Lemma 3.

Remark: Putting b = 1 in Theorem 7, we obtain the following result.

Corollary 5. Let the function f(z) defined by (1.6) be in the class $UT_b(\Phi, \Psi, \alpha, \beta)$. Then for |z| = r < 1, we have

(3.19)
$$1 - \frac{2(1-\beta)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r \le |f'(z)| \le 1 + \frac{2(1-\beta)}{[(1+\beta)\lambda_2 - (\alpha+\beta)\mu_2]}r$$

4. The class $UT_{b_n,m}(\Phi, \Psi, \alpha, \beta)$

Instead of fixing just the second coefficient, we can fix finitely many coefficients. Let $UT_{b_n,m}(\Phi, \Psi, \alpha, \beta)$ denote the class of functions in $UT_b(\Phi, \Psi, \alpha, \beta)$ of the form

(4.1)
$$f(z) = z - \sum_{n=2}^{k} \frac{b_n (1-\alpha)}{[(1+\beta)\lambda_3 - (\alpha+\beta)\mu_3]} z^n - \sum_{n=m+1}^{\infty} a_n z^n$$

where $0 \leq \sum_{n=2}^{m} b_n = b \leq 1$. Note that $UT_{b_2,2}(\Phi, \Psi, \alpha, \beta) = UT_b(\Phi, \Psi, \alpha, \beta)$.

Theorem 8. The extreme points of the class $U_{b_n,m}(k,\lambda,\beta)$ are

$$f_k(z) = z - \sum_{n=2}^m \frac{b_n(1-\alpha)}{\left[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n\right]} z^n$$

and

$$f_n(z) = z - \sum_{n=2}^m \frac{b_n(1-\alpha)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]} z^n - \sum_{n=m+1}^\infty \frac{(1-b)(1-\beta)}{[(1+\beta)\lambda_n - (\alpha+\beta)\mu_n]} z^n$$

The details of the proof are omitted. Since the characterization of the extreme points enables us to solve the standard extremal problems in the same manner as was done for $UT_b(\Phi, \Psi, \alpha, \beta)$.

REFERENCES

- E. AQLAN, J. M. JAHANGIRI AND S. R. KULKARNI, New classes of k-uniformly convex and starlike functions, *Tamkang J. Math.*, 35(3) (2004), pp. 261–266.
- [2] B. C. CARLSON AND D. B. SHAFFER, Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal., 15(1984), pp. 737–745.
- [3] A. W. GOODMAN, On uniformly convex functions, Ann. Polon. Math., 56 (1991), pp. 87-92.
- [4] A. W. GOODMAN, On uniformly starlike functions, J. Math. Anal. & Appl., 155 (1991), pp. 364-370.
- [5] W. C. MA and D. MINDA, Uniformly convex functions, Ann. Polon. Math., 57(2) (1992), pp. 165– 175.
- [6] G. MURUGUSUNDARAMOORTHY AND J. M. JAHANGIRI, Properties of classes of uniformly convex functions under certain integral operators, *South East Asian Bull. Math.*, **32** (2008), pp. 731-740.
- [7] F. RøNNING, On starlike functions associated with parabolic regions, Ann. Univ. Mariae Curie-Sklodowska Sect. A 45, 45 (1991), pp. 117-122.
- [8] F. RøNNING, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, **118**(1) (1993), pp. 189–196.
- [9] F. RøNNING, Integral representations for bounded starlike functions, Ann. Polon. Math., 60 (1995), pp. 289-297.
- [10] ST. RUSCHEWEYH, New criteria for univalent functions, Proc. Amer. Math. Soc., 49 (1975), pp. 109–115.
- [11] S. SHAMS, S. R. KULKARNI, AND J. M. JAHANGIRI, Classes of uniformly starlike and convex functions, *Internat. J. Math. Math. Sci.*, 55 (2004), pp. 2959-2961.

- [12] H. SILVERMAN, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51 (1975), pp. 109 - 116.
- [13] H. SILVERMAN AND E. M. SILVIA, Fixed coefficients for subclasses of starlike functions, *Houston. J. Math.*, 7 (1997), pp. 129 136.